Presentation Station Instructions 07/28/14

Tools Required %
- Phillips Screwdriver X

Parts List

X0 5 x4

M6x12 M6x36 M4x16 M3x15
D x1
S
@ s
G x1

6 X6 7x6 8Xx3 9x6 10 x4

IR

11 X2 12 x2 13 x2 14 x2

1/3


Free Hand


e e 07/28/14







	WPSDD3_instruct_p1
	WPSDD3_instruct_p2
	WPSDD3_instruct_p3

